ACPQG Mystery Quilt 2020
Quick Sew Techniques
November, 2019

4 Patch Blocks
1. Make sure all Unit D seams are pressed toward fabric C (FC).
2. Sew 2 Unit Ds together so that the FC blocks form a diagonal.
3. You should have 16 – 4 Patch blocks.
4. Trim blocks to 4½“ x 4½“.

         4 Patch w. FC	4 Patch with FE


1. Make sure all Unit E seams are pressed toward Fabric E (FE).
2. Sew 2 Unit Es together so that the FE blocks form a diagonal.
3. You should have 12 – 4 Patch blocks.
4. Trim blocks to 4½“ x 4½“

9 Patch Block
1. Press the seams on the Unit Fs so that both seams are pressed   toward the ends.  Unit G seams are pressed toward the center.
2. Two of the Unit Fs will be sewn to either side of a Unit G so that the FE squares form a diagonal as shown below.
3. Press seams in the direction of the arrow.
4. Trim blocks to 6½“ x 6½“.
5. You should have 4 – 9 patch blocks.

Star Block
1. Make sure all 4 Unit As have a ¼” of fabric 
            above the point on the flying geese.
2. Sew the point side of a Unit A to opposite 
            sides of the 6½“ square of fabric A. Press 
            seams toward the 6½“ square.
3. Sew a 3½“ square of fabric B to each end 
            of the remaining 2 Unit As. Press the seams 
            toward the squares.
4. Sew the flying geese units in Step 3 to the 
            remaining sides of the 6 ½“ square to 
            complete the star.
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